c(0, -3)

-2.5 -2.0 -1.5 -1.0 -0.5 0.0

-3.0

o
filename: /z/Proj/newtongroup/nathanae/alldat_40000_thin100_mar25_runl_plot.pdf
first iter: 40001
o
10 é ;




loglik

160000

140000

120000

100000

I
80000

I
60000

I
40000

_
00S¥9T6-

_ _ _
00099T6- 0099916 00099T6-

[s1au]a2en N bojgindino owow

_
00999T6-

iters



complete_loglik

_
000¥Tc6-

_ _
000STc6- 0009T¢c6-

[s1a1]@oen Nibo| s1sjdwoosgindino oswow

_
000.T¢c6-

60000 80000 100000 120000 140000 160000

40000

iters



put$ss_trace[iters]

mcmc_out

1.84 1.86 1.88 1.90 1.92

1.82

SS

I
40000

I
60000

I
80000

I
100000

iters

I
120000

I
140000

I
160000



put$ss_0_trace[iters]

mcmc_out

16

15

14

13

12

11

ss O

I
40000

I
60000

I
80000

I
100000

iters

I
120000

I
140000

I
160000



put$mu_0_trace[iters]

mcmc_out

5.6

5.4

5.2

5.0

4.8

mu_0

I
40000

I
60000

I
80000

I
100000

iters

I
120000

I
140000

I
160000



pi(1)

pi(2)

pi(3)

pi(4)

pi(5)

0.025 0.035 0.020 0.030 0.63 0.65

0.22

0.20

0.080

0.070

I
40000

I
60000

I
80000

I
100000

I
120000

I
40000

I
60000

I
80000

I
100000

I
120000

I
40000

I
60000

I
80000

I
100000

I
120000

I
40000

I
60000

I
80000

I
100000

I
120000

AANAAA

AAAAA

ONAANAA

ANANAAA

AANANAA




p(3,1) p(2,1) p(1,1)
051 0.52 053 054

0.340 0.345 0.350 0.355

p(4,1)

0.455

0.445

0.340

0.330

| |

I I I I
40000 60000 80000 1200

00

|

00

I I I I I
40000 60000 80000 1200
I I I I I
40000 60000 80000 1200

00

|

I I I I
40000 60000 80000 1200

00

p(3.2) p(2,2) p(1,2)
0.212

0.204 0.208 0.212 0.216

p(4,2)
0.004

0.216

0.216 0.208

0.212

0.208

0.008

0.000

3

I I I I
40000 60000 80000 1200

00

At

I I I I
40000 60000 80000 1200

00

s

I I I I
40000 60000 80000 1200

00

3

I I I I
40000 60000 80000 1200

00

p(1,3)
0.24 0.25 0.26 0.27 0.28

p(2,3)
0.335

p(3,3)

p(4,3)

0.325 0.345

0.445

0.435

0.665

i

0.655

|

I I I I
40000 60000 80000 1200

00

I I I I
40000 60000 80000 1200

00

I I I I
40000 60000 80000 1200

00

I I I I
40000 60000 80000 1200

00



